	UNIT OF	QTY.	Cascade	Cascade	Kurtz	Kurtz		Nat'l	Pyramid	Pyramid	School	School Spec
ITEM# ITEM	MEAS	NEEDED	Unit	Total	Unit	Total	Nat'l Unit	Total	Unit	Total	Spec Unit	Total
COMPOSITION PAPER #12 WHITE, 8" X 10 ", 3/8" MARGINAL RULED, 16 LB.		50	2 70		4.05	221.00						
4000 KURTZ #02406. COMPOSITION PAPER #11	REAM	52	3.79	197.08	4.25	221.00						
WHITE, 8" X 10 ", 3/8" RULED, 4001 16 LB. KURTZ #02403.	REAM	3	3.79	11.37	4.08	12.24						
READYWRITE PAPER 20 LB. WHITE PAPER, 8 " X 11", RULED ", 250 SHEETS/PKG. 4004 KURTZ #02150.	PKG	3	<u></u>		12.46	37.38						
EXPERIENCE PAPER, HEAVY, WHITE, 17" X 11", DRAWING SPACE AT TOP W/STORY AT BOTTOM, 250 SHEETS/PKG. KURTZ												
4005 #02250.	PKG	3			19.06	57.18						
PRINTWRITE PAPER 20 LB. WHITE PAPER, 8 " X 11", " RULED, 250 SHEETS/PKG. SCHOOL SPECIALTY												
4006 #027354.	PKG	1			12.74	12.74						
DRAWING PAPER #512 WHITE, 9" X 12", 50 LB. 4007 ECONOMY. KURTZ #35031	REAM	41	6.45	264.45	6.91	283.31					7.50	307.50
DRAWING PAPER #518 WHITE, 12" X 18", 50 LB. 4008 ECONOMY. KURTZ #35032.	REAM	5	12.93	64.65	13.75	68.75					15.05	75.25
DRAWING PAPER #281 WHITE, 9" X 12", 80 LB. HEAVY WEIGHT, 6 REAM/CTN. SCHOOL 4009 SPECIALTY #053943.	CTN	8		457.28	64.44	515.52						
DRAWING PAPER #282 WHITE, 12" X 18", 80 LB. HEAVY WEIGHT. KURTZ			<u> </u>									
4010 #35022	REAM	9	23.91	215.19	21.42	192.78					24.70	222.30
DRAWING PAPER #173 KAYBEE DRAWING PAPER, 70 LB. 18" X 24", WHITE SSI												
4012 #206303	REAM	3	37.36	112.08	37.95	113.85					53.35	160.05

		UNIT OF	QTY.		Cascade	Kurtz	Kurtz		Nat'l	Pyramid	Pyramid	School	School Spec
ITEM#	ITEM	MEAS	NEEDED	Unit	Total	Unit	Total	Nat'l Unit	Total	Unit	Total	Spec Unit	Total
	PAPER #101 X 12", 50 LB., 6	CTN	3	31.15	93.45	31.80	95.40						
	PAPER #102	GIN	3	31.15	93.45	31.00	95.40						
	" X 18", 50 LB., 3	CTN	4	10.37	41.48	31.71	126.84						
TRACING F	PAPER #546 PAPER, 9" X 12", /RM. CASCADE	REAM	4	10.58	42.32	29.31	117.24					12.05	48.20
TISSUE PA ASST., 12" COLOR, 10	PER TISSUE X 18", 25 ASST. 0 SHEET/PKG.												
4016 KURTZ #38		PKG	40	5.20	208.00	3.97	158.80			4.29	171.60	5.50	220.00
		ROLL	7	1.84	12.88	2.02	14.14			1.79	12.53	2.10	14.70
CORRUGA	TRIM BORDETTE TED TRIM, FLAME X 50'. SCHOOL	ROLL	3	1.84	5.52	2.02	6.06			1.79	5.37	2.10	6.30
BORDETTE CORRUGA CANARY Y	TRIM BORDETTE	ROLL	8	1.84	14.72	2.02	16.16			1.79	14.32		16.80
CORRUGA EMERALD	E TRIM BORDETTE TED TRIM, GREEN, 2 1/4" X DL SPECIALTY	ROLL	3	1.84	5.52	2.02	6.06			1.79	5.37		
BORDETTE CORRUGA BLUE, 2 1/4	TRIM BORDETTE TED TRIM, RICH " X 50'. SCHOOL	ROLL	6	1.84	11.04	2.02	12.12			1.79	10.74		12.60
	TRIM BORDETTE TED TRIM, BLACK,	KULL	0	1.84	11.04	2.02	12.12			1.79	10.74	2.10	12.60
4059 SPECIALTY		ROLL	8	1.84	14.72	2.02	16.16			1.79	14.32	2.10	16.80

ITEM#	ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
	BORDETTE TRIM BORDETTE CORRUGATED TRIM, BROWN, 2 1/4" X 50'. SCHOOL SPECIALTY												
4060	#006060.	ROLL	1	1.84	1.84	2.02	2.02	1		1.79	1.79	2.10	2.10
4069	POSTER BOARD #4, 22 X 28, WHITE, 8 PLY SHEETS, ONE SIDE ROUGH OTHER SMOOTH. KURTZ #40260	SHEET	158			0.59	93.22						
4070	POSTER BOARD #2, 22" X 28", BLACK, 6 PLY, COATED BOARD, COLORED BOTH SIDES, 25 SHEETS/PKG. SSI #085406	PKG	1	3.63	3.63	15.50	15.50					13.40	13.40
4070	OAK TAG #15 MANILA, 9" X 12", 125 LB., 100/PKG.	FNG	I	5.05	5.05	15.50	15.50					13.40	13.40
4090	KURTZ #40001.	PKG	16	3.32	53.12	3.06	48.96					4.15	66.40
4091	OAK TAG #15 MANILA, 12" X 18", 125 LB., 100/PKG. KURTZ #40002.	PKG	11	6.63	72.93	6.09	66.99					8.30	91.30
	OAK TAG MANILA, 12" X 18", 150 LB., 100/PKG. SSI #048351	PKG	1	7.81	7.81	7.13	7.13					9.15	9.15
	FOLDING TAG BRISTOL 9" X 12", ASSORTED COLORS,	PKG	2	3.89	7.78	3.66	7.32					5.90	11.80
4096	FOLDING TAG BRISTOL 12" X 18", ASSORTED COLORS, 100 SHEET/PKG. CASCADE #111863.	PKG	8	7.75	62.00	7.27	58.16					11.80	94.40
	QUADRILLE GRAPH #530A 8 " X 11" , WHITE, 1/8" RULED ONE SIDE, 16 LB., 500 SHEETS/REAM. KURTZ #02620.	REAM	2		19.92	12.06	24.12					10.80	21.60
	QUADRILLE GRAPH #530B 8 " X 11", WHITE, 1/4" RULED ONE SIDE, 16 LB., 500 SHEETS/REAM. KURTZ												
4098	#02621.	REAM	31	4.89	151.59	5.20	161.20					5.25	162.75

175144			QTY.	Cascade		Kurtz	Kurtz	N-411 1 1-34	Nat'l	Pyramid	Pyramid	School	School Spec
ITEM#		MEAS	NEEDED	Unit	Total	Unit	Total	Nat'l Unit	Total	Unit	Total	Spec Unit	Total
	QUADRILLE GRAPH #530C 8 " X 11", WHITE, " RULED ONE												
	SIDE, 16 LB., 500												
	SHEETS/REAM. KURTZ												
4099	#02622.	REAM	49	10.70	524.30	5.22	255.78			ļ		5.10	249.90
	QUADRILLE GRAPH #530D 8												
	" X 11", WHITE, 1" RULED ONE SIDE, 16 LB., 500												
	SHEETS/REAM. KURTZ												
4100	#02623	REAM	11	5.14	56.54	5.20	57.20						
	ADDRESS LABELS FOR												
	LASER PRINTER, 2 5/8" X 1",												
	WHITE RECTANGULAR, 30 LABELS/SHEET, 25												
	SHEETS/PKG. MACO												
4112	2 #ML-3025	PKG	17	10.29	174.93					4.19	71.23	12.75	216.75
	ADDRESS LABELS FOR												
	LASER PRINTER, 2 5/8" X 1",												
1115	100 SHEETS/BOX. Z LABEL	BOX	7	30.46	213.22	7.78	54.46			7.29	51.03		
4110	5 #30200. SCRATCH PAD WHITE,	DUX	1	30.40	213.22	1.10	54.40			1.29	51.03		
	UNRULED SCRATCH PAD, 3"												
	X 5", 50 SHEET/PAD, 12												
4118	PAD/PKG. KURTZ #01075	PKG	9	2.63	23.67	2.31	20.79					3.15	28.35
	EASEL PAD WHITE, 27" X 34"												
4110	1" RULED, 50 SHEETS/PAD.	PAD	56	9.78	547.68	7.19	402.64						
4118	KURTZ #27449 SPELLING TABLET #75	FAD	50	9.70	047.00	7.19	402.04						
	WHITE, 4" X 10 ", 60 SHEETS,												
4120	12/PKG. KURTZ #01206.	PKG	8			10.43	83.44						
	NOTEBOOK PAPER WHITE, 8												
	" X 11", 3/8" MARGINAL												
	RULED, 16 LB., 5 HOLES, 500												
4121	SHEETS/RM, 10 RM/CTN. KURTZ #02527.	CTN	10	41.10	411.00	48.20	482.00						
	#56ST WHITE, 8 " X 7", 72	<u> </u>	10	71.10	471.00	10.20	102.00	1					
	PAGES, 12/PKG. KURTZ												
4122	#01413.	DOZEN	99	5.75	569.25	5.70	564.30						

		UNIT OF	QTY.	Cascade	Cascade	Kurtz	Kurtz		Nat'l	Pyramid	Pyramid	School	School Spec
ITEM#		MEAS	NEEDED	Unit	Total	Unit	Total	Nat'l Unit	Total	Unit	Total	Spec Unit	Total
	COMPOSITION BOOK SPIRAL COMPOSITION												
	BOOK, SINGLE SUBJECT, 70												
	SHEETS 8" X 10 ", WITH MARGIN LINE, ASST.												
4123	B COLORS. KURTZ #01125.	EACH	606	1.19	721.14	0.82	496.92					1.35	818.10
	PLAN BOOK #2 (TEACHERS) 6 PERIOD, 11" X 8 ". KURTZ												
4126	6 #01650. NO SUBS.	EACH	4	3.22	12.88	5.11	20.44						
	PLAN BOOK #5 PLAN BOOK,												
112	8 PERIOD, 11" X 8 ". KURTZ 7 #01653. NO SUBS.	EACH	9	3.36	30.24	4.11	36.99						
4121	CLASS RECORD BOOK #802	EACH	9	3.30	30.24	4.11	30.99						
	11" X 8 ", 10 WEEK REPORT												
4100	PERIOD. KURTZ #01603. NO 9 SUBS.	EACH	11	3.08	33.88	5.52	60.72						
4123	DATE PLANNER 12 MONTH	EACH	11	3.00	33.00	5.52	00.72						
	PLANNER WITH AREA CODE												
	MAP AND 3 YEAR												
	REFERENCE CALENDAR, 7" X 10". KURTZ #14367. NO												
4133	SUBS.	EACH	11			2.77	30.47						
	LEGAL PAD 5" X 8" JR.												
	LEGAL, 12/PKG, WITH EXTRA STIFF BACK, 50 SHEETS,												
414() YELLOW. KURTZ #01303.	PKG	24	5.52	132.48	8.10	194.40					5.95	142.80
	LEGAL PAD 8 " X 11 3/4"												
	LEGAL RULED, 12/PKG, WITH EXTRA STIFF BACK, 50												
	SHEETS, WHITE. QUILL												
4143	3 #742328.	PKG	23	5.92	136.16	12.87	296.01					13.10	301.30
	LEGAL PAD 8 " X 11 3/4"												
	LEGAL RULED, 12/PKG, WITH EXTRA STIFF BACK, 50												
	SHEETS, YELLOW. QUILL												
414	5 #740022.	PKG	13	6.25	81.25	11.17	145.21			.		13.10	170.30
	POST-IT NOTES 3" X 3", YELLOW, 100 SHEETS/PAD.												
4148	8 KURTZ #12495.	DOZEN	36	3.49	125.64	2.76	99.36	2.40	86.40	2.35	84.60		

		UNIT OF	QTY.	Cascade	Cascade	Kurtz	Kurtz		Nat'l	Pyramid	Pyramid	School	School Spec
ITEM#	ITEM	MEAS	NEEDED	Unit	Total	Unit	Total	Nat'l Unit	Total	Unit	Total	Spec Unit	Total
4149	POST-IT-NOTES 3" X 3", BLUE, 100 SHEETS/PAD. 3M 9 #6549-BE.	DOZEN	20			3.48	69.60						
	POST-IT NOTES 3" X 5",	DOLLIN	20			0.40	00.00	<u> </u>					
	YELLOW, 100 SHEET/PAD.												
4150) KURTZ #12496.	EACH	20	0.69	13.80	0.44	8.80	0.45	9.00	1			
415	POST-IT NOTES 1 " X 2", ASSORTED NEON COLORS, INCLUDES THREE EACH MELON, PINK, YELLOW AND LIME, 12 PADS/PKG, 100 SHEETS/PAD. 3M 1 #MMM-653-AN	PKG	51	6.48	330.48	6.68	340.68	5.17	263.67	5.99	305.49	8.20	418.20
		110	01	0.40	000.40	0.00	040.00	0.17	203.07	0.00	000.40	0.20	+10.20
4152	POST-IT NOTES 3" X 3", ASSORTED NEON COLORS, INCLUDES ONE OF EACH: MELON, PINK, YELLOW, LIME AND ORANGE, 5 PADS/PKG, 100 SHEETS/PAD. 3M 2 #MMM-654-5PK.	PKG	64	6.38	408.32	6.34	405.76	4.21	269.44	5.69	364.16	7.95	508.80
	POST-IT DISPENSER POP UP											1	
4153	NOTE DISPENSER FOR 3" X 3" FAN FOLD POST-ITS. 3 QUILL #PRO330.	EACH	13	7.15	92.95	8.06	104.78			6.69	86.97	8.90	115.70
	POST-IT NOTES 3" X 3"	-						1					
	REFILL FOR POP UP												
115	DISPENSER, YELLOW. 3M 4 #R330YW.	EACH	11	1.36	14.96	1.20	13.20					1.25	13.75
415	POST-IT NOTES 3" X 3"	LAGIT		1.50	14.30	1.20	13.20					1.23	15.75
115	REFILL FOR POP UP DISPENSER, NEON PINK & 5 LIME, 12/PKG. KURTZ #12467	PKC	37	14.81	547.97	15.17	561.29	11.80	436.60	13.95	516.15		
415	· · · · · · · · · · · · · · · · · · ·	FNG	51	14.01	547.37	13.17	301.23	11.00	430.00	13.85	510.15		
447	LAMINATING POUCHES TWO SHEETS OF PLASTOFILM SEALED AT TOP TO FORM A POUCH, 1 CARRIER INCLUDED IN EACH BOX, 9" X 11 100 POUCHES/BOX.	POY	107	10.14	1 207 70	4.00	540.42			11.05	1 517 65	0.00	1 257 20
4178	3 KURTZ #05555	BOX	127	10.14	1,287.78	4.09	519.43			11.95	1,517.65	9.90	1,257.30

ITEM#	ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
	LAMINATING POUCHES TWO SHEETS OF PLASTOFILM SEALED AT TOP TO FORM A POUCH, 1 CARRIER INCLUDED IN EACH BOX, 12" X 15", 100 POUCHES/BOX.												
	KURTZ #05556. TRANSPARENCY FILM LABELON TRANSPARENCY FILM FOR PLAIN PAPER COPIERS, CLEAR FILM, 8 " X 11", WHITE SENSING STRIP,	BOX	2			14.70	29.40					17.10	34.20
	100 SHEETS/BOX. PYRAMID #1206614.	BOX	1	10.38	10.38	6.22	6.22			16.95	16.95		
	WHITE ENVELOPES #10, 4 1/8" X 9 ", 24 LB., WHITE WOVEN GUMMED FLAP, 500/BOX. KURTZ #17004.	BOX	13	12.93	168.09	11.95	155.35						
	CATALOG ENVELOPES #13, 10" X 13", 28 LB., MANILA GUMMED FLAP ON SHORT END, 100/BOX. KURTZ #17086.	BOX	1	33.32	33.32	11.00	11.00						
	REPORT CARD ENVELOPE #259, KRAFT OPEN END THUMB CUT ENVELOPE, 6" X 9", 100/CTN. SSI #085059	CTN	13		91.52	16.08	209.04						
	CLASP ENVELOPES #55, 6" X 9", 28 LB. KRAFT GUMMED FLAP AND CLASP, SHORT SIDE, 100/BOX. QUILL #BID-7CL6928.	BOX	5	10.15	50.75	8.05	40.25						
	CLASP ENVELOPES #90, 9" X 12", 28 LB. KRAFT GUMMED FLAP AND CLASP, SHORT SIDE, 100/BOX. SCHOOL SPECIALTY #085044	BOX	8	15.84	126.72	12.95	103.60						

ITEM# ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
CLASP ENVELOPES #93, 9 " X 12 ", 28 LB., KRAFT GUMMED FLAP AND CLASP, SHORT SIDE, 100/BOX.								Total		10101		Total
4199 KURTZ #17052. COIN ENVELOPES #1, 2 1/4" X 3 ", 24 LB., BROWN KRAFT, GUMMED FLAP, 500/BOX.	BOX	14	14.92	208.88	14.05	196.70						
4200 QUILL #BID-2811. VERTICAL FILE FOLDER LETTER SIZE, MANILA, 1/3 CUT, 100/BOX, 5 BOXES/CTN		2	19.04	38.08	8.61	17.22						
4201 KURTZ #13203. VERTICAL FILE FOLDER 10" X 15", EXPANDING FILE WITH TIE STRING CLOSURE, 5 1/4" EXPANSION, 10/BOX. 4202 SMEAD #BID-71076.	CTN BOX	10	6.69	66.90	<u>35.35</u> 46.00	<u>353.50</u> 184.00						
HANGING FILE FOLDER LETTER SIZE, OLIVE GREEN, 1/5 CUT, 25/BOX. KURTZ 4204 #13225.		7		45.29	6.63	46.41	<u></u>				5.30	37.10
HANGING FOLDERS BOX BOTTOM, 2" EXPANSION, GREEN, LETTER SIZE, 4205 25/BOX. SM #10HX2.	BOX	5		149.10	0.00							
DESK TRAY QUICKSTACK DESK TRAY, LETTER SIZE, 4215 PUTTY. KURTZ #14341.	EACH	22	2.52	55.44	2.47	54.34						
FILE STORAGE BOX CORRUGATED FILE/STORAGE BOX, W/LID, 12" X 15 1/2"X 10". KURTZ 4216 #13179.	EACH	36	4.44	159.84	2.61	93.96						
PORTFOLIO W/FAST. 11" X 8 ", DOUBLE POCKET, 25/BOX, ASSORTED COLORS. 4218 PYRAMID #1210574.	BOX	15	5.01	75.15	8.30	124.50					5.65	84.75

		UNIT OF	QTY.	Cascade	Cascade	Kurtz	Kurtz		Nat'l	Pyramid	Pyramid	School	School Spec
ITEM#	ITEM	MEAS	NEEDED	Unit	Total	Unit	Total	Nat'l Unit	Total	Unit	Total	Spec Unit	Total
4219	PORTFOLIOS DOUBLE POCKET PORTFOLIOS, 8 " X 11", LIGHT BLUE 25/BOX. KURTZ #17212.	BOX	30	3.48	104.40	5.76	172.80					4.75	142.50
	PORTFOLIOS DOUBLE POCKET PORTFOLIOS, ASSORTED COLORS, 9" X	DOX	94	3.48	292.32	2.02	220.28					2.90	
4221	12", 25/BOX. KURTZ #17223.	BOX	84	3.48	292.32	3.92	329.28					3.80	319.20
4227	VINYL BINDER 3 RING BINDER, 1" CAPACITY, POCKETS INSIDE FRONT & BACK COVER, BLACK. KURTZ #03030	EACH	756	1.17	884.52	2.05	1,549.80					2.05	1,549.80
4221		LAGIT	750	1.17	004.02	2.05	1,040.00					2.00	1,049.00
4228	VINYL BINDER 3 RING BINDER, 2" CAPACITY, POCKETS INSIDE FRONT AND BACK COVER, BLACK. KURTZ #03031	EACH	78	1.77	138.06	3.11	242.58					3.20	249.60
	VINYL BINDER 3 RING BINDER, 3" CAPACITY, POCKETS INSIDE FRONT AND BACK COVER, BLACK.		19		45.60							4.90	
4229	KURTZ #03013	EACH	19	2.40	45.00	7.05	133.95	1		1		4.90	93.10
4233	INSERTABLE INDEXES 5 MULTICOLOR TABS, 1 " LENGTH. HAMPTON #AVYUD2135.	PKG	177	0.65	115.05	0.46	81.42						
	INSERTABLE INDEXES 8 MULTICOLOR TABS, 1 1/4" LENGTH. SCHOOL SPECIALTY #035034.	PKG	72	0.68	48.96	0.74	53.28					0.55	39.60
	INSERTABLE INDEXES LAMINATED, ERASABLE TAB DIVIDERS, 8 MULTICOLOR TABS/PKG. SCHOOL		12	0.00									
4235	SPECIALTY #038534.	PKG	4	3.16	12.64	3.24	12.96					1.45	5.80

ITEM#	ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
	SHEET PROTECTORS PLASTIC, NONGLARE, 11" X 8, 3 HOLE PUNCHED, FOR USE IN NOTEBOOKS, SIDE LOADING, 50/BOX. AVERY												
4236	6 #2VY811	PKG	6	7.84	47.04	9.26	55.56					11.35	68.10
4233	CLEAR POLY., 8 " X 11", 3 HOLE PUNCHED, FOR USE IN NOTEBOOKS, TOP LOADING, 100/BOX. QUILL 7 #BID-728100.	вох	28	5.62	157.36	6.49	181.72	4.85	135.80			4.75	133.00
4201	INDEX CARDS WHITE, 3" X 5"	DOX	20	0.02	107.00	0.40	101.72	1	100.00			4.70	100.00
4239	RULED, 100/PKG. KURTZ 9 #13002.	PKG	78	0.70	54.60	0.44	34.32					0.55	42.90
4240	INDEX CARDS WHITE, 3" X 5" UNRULED, 100/PKG. KURTZ) #13003.	PKG	36	0.69	24.84	0.45	16.20					0.55	19.80
424	INDEX CARDS FIVE COLOR CONVIENCE PACK, BLUE, YELLOW, GREEN, ORANGE & PINK, RULED 3" X 5", 1 100/PKG. KURTZ #83031.	PKG	111	1.05	116.55	1.16	128.76					0.90	99.90
	INDEX CARDS WHITE, RULED 6" X 4", 100/PKG.	1110		1.00	110.00	1.10	120.70					0.00	00.00
4242	2 KURTZ #13031.	PKG	15	0.83	12.45	0.96	14.40					0.80	12.00
4243	INDEX CARDS ESSELTE WHITE, 5" X 8" RULED, 3 100/PKG. KURTZ #13061.	PKG	23	2.43	55.89	10.03	230.69					1.35	31.05
	INDEX CARDS ESSELTE WHITE, 5" X 8" UNRULED,												
4244	100/PKG. KURTZ #13062.	PKG	4	0.82	3.28	1.69	6.76					1.35	5.40
	CHALK CLASSROOM SELECT WHITE, SCHOOL QUALITY ANTI-DUST CHALK. SCHOOL SPECIALTY												
4247	7 #084832.	GROSS	1	4.95	4.95	4.92	4.92			4.49	4.49	0.40	0.40

ITEM#	ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
	CHALKBOARD CLEANER SCOFOAM E8C05 CHALKBOARD CLEANER, CLASSROOM SIZE 5" X 2" X 1 ", INCLUDES COVER, REFILLABLE. SCHOOL MATE												
4250	#2100.	EACH	3	2.56	7.68	3.11	9.33			2.49	7.47		
4253	CRAYONS #8 WAX CRAYONS, STANDARD SIZE, 8/TUCK BOX, 12 BOXES = 1 PKG. HAMPTON #DX-00000DZ.	PKG	70	7.49	524.30	8.64	604.80	6.20	434.00	4.20	294.00		
	CRAYONS #38 LARGE, 8/LIFT	BOX	204	1.63	332.52	0.73	148.92	1.24	252.96	0.65	132.60	0.80	163.20
	LID BOX. KURTZ #47035 PIPE CLEANER #CK7112 PIPE CLEANER, 12", ASST. COLORS, 100/PKG. SCHOOL	PKG						1.24		1.09			
4200	SPECIALTY #005775. COLORED PENCILS PRANG	PKG	42	1.43	60.06	1.63	68.46	0.78	32.76	1.09	45.78	1.30	54.60
4256	PENCIL SET, 12 COLORS/SET. PYRAMID #1279702	SET	704	1.84	1,295.36	1.91	1,344.64			1.19	837.76	1.80	1,267.20
	MAP COLORING PENCILS " LENGTH, POINTED COLOR PENCILS, TUCK BOX, 12/SET. SARGENT #227214.	BOX	10		.,	1.34	13.40			1.29	12.90		.,
	PENCILS SCHOOL LINE, NO. 2, ROUNDED HEXAGON SHAPE. DIXON #14402.	DOX	10			1.04	10.40			1.23	12.50		
4259	DIXON ONLY. NO SUBS.	GROSS	60	12.60	756.00	14.16	849.60			9.48	568.80		
4260	PENCILS INTERMEDIATE, W/ERASER, 2ND AND 3RD GRADE. KURTZ #06141.	GROSS	12	36.00	432.00	34.32	411.84			28.20	338.40		
4261	AUTOMATIC PENCIL PUSH BUTTON LEAD ADVANCE, RUBBER COMFORT ZONE, PENTEL CHAMP, EXPOSED ERASER, PLASTIC CLIP, 0.7MM LEAD, REFILLABLE LEAD AND ERASER. PENTEL #PEN-AL17C.	DOZEN	245	7.07	1,732.15	5.28	1,293.60						

ITEM# ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
LEAD REFILL SUPER HI-POLYMER LEAD REFILL, 0.7MM HB, 12/TUBE. KURTZ	MEAU	NEEDED		Total	Unit	10101		Total	onic	Total		Total
4265 #06062.	TUBE	158	0.84	132.72	5.68	897.44						
PENCIL ERASER SOFT PINK ERASER, 12/BOX. CLI 4266 #71506.	BOX	127	1.00	127.00	3.17	402.59	0.90	114.30	1.19	151.13	0.85	107.95
PENCIL SHARPENER #1031 BOSTON KS, SHARPENS 8	BOX	121	1.00	127.00	5.17	402.39	0.90	114.50	1.19	101.10	0.05	107.95
4270 PENCIL SIZES. NO SUBS.	EACH	5	8.57	42.85	9.96	49.80	9.70	48.50	8.49	42.45	12.30	61.50
PEN MED. POINT, BLUE, CA AND CLIP PEN. LIQUIMARK		40	0.00	40.07	0.00				0.00	40.07		
4275 #31123.	DOZEN	13	0.99	12.87	0.89	11.57			0.99	12.87		
PEN MED. POINT, RED, CAP AND CLIP PEN. LIQUIMARK 4276 #31127.	DOZEN	17	0.99	16.83	0.88	14.96			0.99	16.83		
PEN MED. POINT, BLACK,	DOZLIN	17	0.99	10.05	0.00	14.30			0.99	10.05		
CAP AND CLIP PEN. 4277 LIQUIMARK #31121.	DOZEN	23	0.99	22.77	0.88	20.24			0.99	22.77		
PEN FINE POINT, RED, FLO-BALL ERASER TIP PEN												
4285 KURTZ #08075.	EACH	17	5.32	90.44								
PEN UNI BALL MARKER PEN BLACK, FINE POINT. 4287 UNIBALL #UB102.	I, EACH	79	0.93	73.47	0.78	61.62						
PEN EASYTOUCH BALLPOINT, MED. POINT,												
4294 BLACK. PENTEL #BK91A.	DOZEN	12	6.41	76.92	6.36	76.32			5.19	62.28	7.50	90.00
PEN EASYTOUCH BALLPOINT, MED. POINT, 4295 BLUE. PENTEL #BK91C.	DOZEN	6	6.41	38.46	6.36	38.16			5.19	31.14	7.50	45.00
PEN EASYTOUCH	DOZEN	0	0.41	30.40	0.30	30.10			5.19	31.14	7.50	45.00
BALLPOINT, FINE POINT, 4297 BLACK. PENTEL #BK90A.	DOZEN	16	6.41	102.56	6.36	101.76			5.19	83.04		
PEN EASYTOUCH BALLPOINT, FINE POINT,												
4298 BLUE. PENTEL #BK90C.	DOZEN	13	6.41	83.33	6.36	82.68			5.19	67.47		
PEN #SAN-60126 UNIBALL VISION, FINE .3MM POINT,			·									
4305 BLACK.	DOZEN	12	18.25	219.00	17.16	205.92			14.95	179.40		

		UNIT OF	QTY.			Kurtz	Kurtz		Nat'l	Pyramid	Pyramid	School	School Spec
ITEM#	ITEM	MEAS	NEEDED	Unit	Total	Unit	Total	Nat'l Unit	Total	Unit	Total	Spec Unit	Total
(0.0.0	PEN ULTRA FINE PENIT,												
4306	BLACK. FAVER #60201.	DOZEN	8	2.80	22.40							1	
	DOUBLE-ENDED PEN FINE												
	POINT, RED ON ONE END												
4240	BLACK ON THE OTHER.		4	0.00	0.00	7 75	7 75			6.20	6 20		
4310	CASCADE #002283.	DOZEN	1	8.00	8.00	7.75	7.75	1		6.39	6.39	<u> </u>	
	PERM. MARKER ALL												
	PURPOSE, BLACK,												
1011	LIQUI-MARK #L900. KURTZ	EACH	76	0.54	41.04	0.25	40.00						
4311	#08428.	EACH	70	0.54	41.04	0.25	19.00						
	PERM. MARKER ALL												
1212	PURPOSE, RED, LIQUI-MARK	EACH	1	0.54	0.54	0.25	0.25						
4312	#L900. KURTZ #08425.	EACH	I	0.54	0.54	0.25	0.25					1	
	MARKERS #30001 SHARPIE FINE POINT MARKER,												
1313	BLACK. KURTZ #08501.	EACH	344	0.85	292.40	0.81	278.64			0.55	189.20	1.05	361.20
4010	PERM. MARKER SET 4/SET,	LAGIT	544	0.00	232.40	0.01	210.04	1		0.00	103.20	1.00	301.20
	RED, BLUE, BLACK, GREEN,												
4314	LIQUI-MARK. KURTZ #08206.	SET	6	1.79	10.74	1.33	7.98			1.69	10.14		
	MARKER SET #20678 MR.	021	0	1.70	10.74	1.00	7.00			1.00	10.14	1	
	SKETCH WATERCOLOR,												
	8/SET. MR. SKETCH ONLY.												
4317	NO SUBS	SET	130	4.04	525.20	4.49	583.70	3.38	439.40	3.09	401.70	5.85	760.50
	MARKER SET #20672 MR.				010.110			0.00					
	SKETCH WATER COLOR												
	SET, SET OF 12 COLOR MR.												
4318	SKETCH ONLY. NO SUBS.	SET	630	5.82	3,666.60	6.67	4,202.10	4.40	2,772.00	4.35	2,740.50	8.70	5,481.00
	MARKER SET FIDDLE				·				·		•	1	,
	STICKS, FINE POINT, 10												
	COLORS/SET. FIDDLE												
4320	STICKS ONLY. NO SUBS.	SET	605			4.02	2,432.10	2.49	1,506.45	2.69	1,627.45	5.25	3,176.25
	MARKER SET #30074												
	SHARPIE MARKER SET, 4												
	COLORS/SET. PYRAMID												
4323	#3824174.	SET	86	3.69	317.34	3.23	277.78	2.60	223.60	2.69	231.34		

ITEM#	ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
	MARKERS SCHOOL CLASSPACK MARKERS, 25 EACH OF RED, BLUE, BLACK, GREEN, YELLOW, ORANGE, PURPLE, AND BROWN, CONE TIP, WATER BASED. KURTZ #08282.	SET	3	53.71	161.13			44.70	134.10	45.95	137.85		105.45
	EXPO MARKERS #86074 DRY ERASE MARKERS, WIPE OFF IMMEDIATELY W/DRY CLOTH, FINE TIP, 4 COLOR SET, BLACK, BLUE, RED & GREEN. EXPO BRAND ONLY. NO SUBS.	SET	94	3.33	313.02	3.75	352.50		188.00	2.09	196.46		441.80
	EXPO MARKERS #83074 DRY ERASE MARKERS, WIPE OFF IMMEDIATELY W/DRY CLOTH, BROAD POINT, 4 COLOR SET, BLACK, BLUE RED & GREEN. EXPO BRAND ONLY. NO SUBS.	SET	178	3.86	687.08	4.25	756.50		398.72		405.84		
	EXPO MARKER #86001 DRY ERASE MARKER, WIPE OFF IMMEDIATELY W/DRY CLOTH, BLACK, FINE TIP. EXPO BRAND ONLY. NO SUBS.	DOZEN	152	9.76	1,483.52	11.76	1,787.52		834.48	5.49	834.48		
	EXPO MARKER #80001 DRY ERASE MARKER, WIPE OFF IMMEDIATELY W/DRY CLOTH, BROAD TIP, BLACK. EXPO BRAND ONLY. NO SUBS.	DOZEN	102	11.32					652.32		657.72		
	EXPO MARKERS #80074 EXPO 2 LOW ODOR DRY ERSE MARKERS, 4 COLOR CHISEL TIP SET, BLACK, RED, BLUE, GREEN. EXPO BRAND ONLY. NO SUBS.	SET	37	3.86	142.82	4.25	157.25		83.62		84.36		205.35

ITEM#	ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
	BOARD CLEANER EXPO WHITE BOARD CLEANER, REMOVES BUILDUP ON DRY ERASE BOARDS. 8 OZ. SPRAY BOTTLE. PYRAMID												
4342	2 #SN-81803.	EACH	13	2.70	35.10	2.86	37.18	1.99	25.87	2.69	34.97	3.70	48.10
1313	ERASER SCHOOL SMART ERASER FOR DRY MARKER BOARD. SSI #084465	EACH	154	0.80	123.20	1.92	295.68	0.46	70.84	0.79	121.66	0.65	100.10
	HIGHLIGHTER YELLOW, FLUORESCENT MARKER FOR EMPHASIZING. KURTZ #08323.	DOZEN	65	4.70	305.50	2.76	179.40	1.69	109.85	2.89	187.85	2.35	152.75
	HIGHLIGHTER SET HIGHLIGHTER, 6/SET. SCHOOL SPECIALTY #038856.	SET	58	2.16	125.28	2.04	118.32	1.28	74.24	2.19	127.02		78.30
4351	STAMP PAD SCHOOL SMART STAMP PAD, BLACK, 2 3/4" X 4 1/4", CAN BE RE-INKED. SSI #084906	EACH	13	1.29	16.77	1.30	16.90			1.09	14.17	0.60	7.80
	STAMP PAD SCHOOL SMART STAMP PAD, RED, 2 3/4" X 4 1/4", CAN BE RE-INKED. SSI 2 #084909.	EACH	8	1.29	10.32	1.30	10.40			1.09	8.72		4.80
	TAPE DISPENSER TAPE DISPENSER, PUTTY. KURTZ	EACH	15	2.40	36.00	2.79	41.85			1.69	25.35	1.10	16.50
	3 #12227. TAPE DISPENSER HAND TAPE DISPENSER, FOR 3/4"									1.09	20.00	1.10	10.50
	ROLLS. KURTZ #12202 INVISIBLE TAPE 3/4" X 1296", HIGHLAND INVISIBLE TAPE. HIGHLAND ONLY. 3M #6200 3/4 1296. NO SUBS.	EACH DOZEN	1333	0.87	<u>11.31</u> 479.82	<u>0.67</u> 22.92	8.71 756.36	7.92	261.36	10.20	336.60	14.30	471.90
	UTILITY TAPE 3/4" X 60 YD. MASKING, HIGHLAND UTILITY TAPE. HIGHLAND 3 ONLY. NO SUBS.	DOZEN	7	14.11	98.77	17.64	123.48	12.60	88.20	14.16	99.12		

ITEM# ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
UTILITY TAPE 1" X 60 YD. MASKING, HIGHLAND UTILITY TAPE. HIGHLAND												Total
4359 ONLY. NO SUBS.	DOZEN	11	19.30	212.30	23.52	258.72	16.20	178.20	19.08	209.88		
UTILITY TAPE 2" X 60 YD. MASKING, HIGHLAND UTILITY TAPE. HIGHLAND 4360 ONLY. NO SUBS.	DOZEN	7	3.11	21.77	47.16	330.12	32.80	229.60	35.88	251.16		
BOOKBINDING TAPE 3M SCOTCH BRAND, 3" X 15 4361 YDS. 3M ONLY. NO SUBS.	ROLL	111	8.96	994.56	8.89	986.79	6.90	765.90	6.95	771.45	11.10	1,232.10
BOX SEALING TAPE SCOTCH BOX SEALING TAPE, 2" X 60 YDS., BROWN. 4362 SCOTCH ONLY. NO SUBS.	EACH	12					4.90	58.80	5.19	62.28		
BOX SEALING TAPE SCOTCH CLEAR FILM TAPE FOR BOX SEALING 2" X 60 YDS 3" CORE. SCOTCH												
4363 ONLY. NO SUBS.	ROLL	38	1.45	55.10	1.28	48.64	1.27	48.26	1.39	52.82	<u> </u>	
WHITE GLUE #379 ELMER'S GLUE ALL, 7 5/8 OZ. SQUEEZE BOTTLE. QUILL 4364 #E379NR.	EACH	109	1.76	191.84	1.70	185.30	1.55	168.95	1.54	167.86	2.20	239.80
WHITE GLUE SCHOOL SMART GLUE STIC, .28 OZ. CLASSROOM SELECT. SCHOOL SPECIALTY		100		101.04	1.10	100.00	1.00	100.00	1.04	101.00		200.00
4366 #078693.	DOZEN	49	1.48	72.52	7.20	352.80	2.08	101.92	2.40	117.60		
GLUE STIC SCHOOL SMART GLUE STIC, 1.4 OZ. SCHOOL 4367 SPECIALTY #078695	DOZEN	97	4.44	430.68	22.20	2,153.40	3.60	349.20	6.60	640.20	4.60	446.20
DAB 'N STICK WASHABLE DAB 'N STICK, 2.5 OZ. 4368 LEONAR #94750.	EACH	5	0.58	2.90	0.95	4.75			0.57	2.85		
RUBBER CEMENT 8 OZ., W/BRUSH IN CAP. KURTZ 4373 #18138.	EACH	34	2.80	95.20	4.09	139.06			3.95	134.30	3.65	124.10
RUBBER CEMENT GALLON, 4374 BEST TEST. ROS #00234BD.	EACH	4	30.52	122.08					28.95	115.80		

ITEM# ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
LIQUID PAPER #564 WHITE	WEAS	NEEDED	Unit	TOLAI	Onit	Total	Nationit	TOLAI		TOLAI	Spec Ont	TOLAI
LIQUID PAPER, BOND												
4376 WHITE. NO SUBS.	EACH	40	1.17	46.80	1.21	48.40	0.92	36.80	0.84	33.60	1.55	62.00
CORRECTION PEN #562												
LIQUID PAPER CORRECTIO 4379 PEN. EVANS #44700.	EACH	29	1.77	51.33	2.01	58.29	1.48	42.92	1.18	34.22	2.55	73.95
LIQUID PAPER DRYLINE CORRECTION FILM, NONREFILLABLE, 1/6" X 9.3 4380 YDS. PAP #066-04.	EACH	46	2.27	104.42	2.65	121.90		88.32	1.89	86.94		10.00
NAME BADGES 2 1/4" X 3 ",	LAON		2.21	104.42	2.00	121.00	1.52	00.02	1.00	00.34		
BLUE BORDER, NOT PRINTED, 100/BOX.												
4382 PYRAMID #1509839.	BOX	1	1.35	1.35	1.92	1.92	1		1.32	1.32	2.90	2.90
THUMB TACKS 3/8", NICKEL PLATED, 100/BOX. KURTZ	BOX	6	0.72	4.32	0.35	2.10			0.52	3.12	0.97	5.82
4388 #11451. PLASTI-TAK ADHESIVE, 3	вох	0	0.72	4.32	0.35	2.10	1		0.52	J.12	0.97	0.02
4389 OZ.	EACH	6	1.41	8.46	1.36	8.16			1.39	8.34		
SAFETY PINS SAFETY PINS ASSORTED SIZES, 50/PKG.												
4390 KURTZ #11474.	PKG	12	0.99	11.88	1.52	18.24			1.24	14.88	1	
PUSH PINS PUSH PINS, 100/PKG, ASSORTED COLORS. GLOBAL 4391 #11173QL.	PKG	16	0.73	11.68	0.74	11.84			0.49	7.84	0.75	12.00
RUBBER BANDS #18, 3" X												
1/16", 1/4 LB. PKG. KURTZ	DKO	4.4	1.04	44.50	0.00	40.00			0.00	40.40	4 4 5	10.10
<u>4392 #11313.</u>	PKG	14	1.04	14.56	0.90	12.60			0.89	12.46	1.15	16.10
RUBBER BANDS #54 ASSORTED SIZES, 1/4 LB. PKG, MEETS FEDERAL SPECIFICATIONS. KURTZ 4394 #11316.	PKG	33	1.04	34.32	0.89	29.37			0.73	24.09	1.15	37.95
PAPER CLIPS NO. 1 LARGE,												
100/BOX, 10 BOX/CTN. GEM 4397 ONLY. NO SUBS.	CTN	17	2.19	37.23	2.60	44.20			2.00	34.00		
GIANT, 100/BOX, 10		17	2.19	51.25	2.00	44.20			2.00	54.00		
BOX/CTN. GEM ONLY. NO												
4398 SUBS.	CTN	12	5.89	70.68	6.40	76.80			5.20	62.40		

ITEM#	ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
	SS FASTENERS #2R, "	MLAS	NLLDLD	Onit	TOLAI	Unit	TOTAL	Nationit	TOtal	Unit	Total	Spec Ont	TOtal
SHA	NK, 100/BOX. KURTZ		_										
4399 #114		BOX	2	0.86	1.72	0.89	1.78	1		0.70	1.40	0.65	1.30
	SS FASTENERS #3R, 3/4" NK, 100/BOX. KURTZ												
4400 #114		BOX	5	0.98	4.90	0.58	2.90			0.75	3.75	0.80	4.00
SHA	SS FASTENERS #4R, 1" NK, 100/BOX. KURTZ												
4401 #114		BOX	2	1.02	2.04	1.48	2.96			1.10	2.20	0.99	1.98
BUT	ER CLAMPS #1" LARGE TERFLY PAPER MPS, 12/BOX. KURTZ i15.	BOX	24	0.95	22.80	0.69	16.56			0.65	15.60	1.15	27.60
BUT CLA	ER CLAMPS #2" MEDIUM TERFLY PAPER MPS, 50/BOX. KURTZ	DOV	45	1 00	10 50		46.65			4 45	47.05	1.05	04.75
	16. UP CLIPS #220 E-Z UP	BOX	15	1.30	19.50	1.11	16.65			1.15	17.25	1.65	24.75
	PS, 20/BOX. PYRAMID	BOX	39			3.10	120.90			2.95	115.05	3.75	146.25
ALL MAG YOU MET	GNETIC CLIP BULLDOG, STEEL, LIFETIME GNET ATTACHED, LETS I HANG CLIP FROM ANY AL SURFACE, 2" SIZE. TZ #11413.	EACH	151	0.56	84.56	0.53	80.03			0.43	64.93		
SMA TUR PER 1/4"	DER CLIPS SCHOOL IRT - #50 GRAB AND N UNDER, LEAVE NO FORATION, 12/BOX, 1 WIDE. SCHOOL CIALTY #032400.	вох	30	0.90	27.00	0.80	24.00			0.64	19.20	0.60	18.00
BINE AND NO F	DER CLIPS #10 GRAB TURN UNDER, LEAVES PERFORATIONS, 12/BOX, IDE. LEONARD #BC10.	вох	26	1.69	43.94	1.95	50.70	1.29	33.54	1.59	41.34		
BINE WID	DER CLIPS SMALL 3/4" E BINDER CLIPS, OX. SCHOOL SPECIALTY			1.00	-10.01	1.00		1.23		1.00	<u>+1.0</u>		
4408 #032	2397.	BOX	39	0.60	23.40	0.41	15.99	0.36	14.04	0.32	12.48	0.35	13.65

ITEM# ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
STAPLER #747 SWINGLINE, BLACK. KURTZ #11010. SWINGLINE ONLY. NO	MLAG	NEEDED	Ont	Total	Unit	Total		Total		Total		Total
4409 SUBS.	EACH	37	16.96	627.52	16.26	601.62	8.12	300.44	8.69	321.53		
STAPLES #1K STANDARD SWINGLINE STAPLES, 4410 5000/BOX. KURTZ #11101.	BOX	76	0.83	63.08	0.80	60.80	0.53	40.28	0.60	45.60		
STAPLE REMOVER CLAW 4413 TYPE. KURTZ #11040.	EACH	12	0.66	7.92	0.61	7.32	0.30	3.60	0.39	43.60	0.50	6.00
PLASTIC RULER CLEAR PLASTIC, 12" RULER. KURTZ	DOZEN	9	0.50	4.50	2.65	22.95	2.42	21.78			2.40	
4414 #10020. SCISSORS 4 " BLUNT HEAVY FORGED STEEL. KURTZ 4416 #10322. NO SUBS.	DOZEN	13	3.12	4.50 40.56	2.65	23.85	2.42	21.78	3.95	51.35	2.40	21.60
SCISSORS 4 " SHARP, HEAVY FORGED STEEL. 4417 KURTZ #10312. NO SUBS.	DOZEN	12	5.75	69.00					3.95	47.40		
SCISSORS 5" SHARP, LEFT HANDED SCISSORS. KURTZ 4419 #10368. NO SUBS.	DOZEN	6	20.39	122.34					7.95	47.70		
SCISSORS FISKARS #2100 ALL PURPOSE SCISSORS, 8" RIGHT HAND. QUILL 4421 #BID-7-90703BE.	EACH	32	2.23	71.36	2.43	77.76			0.89	28.48		
SCISSORS #SCC8, 8" ADULT, NICKEL PLATED BLADES WITH BLACK ENAMEL			2.20	11.00								
4422 HANDLES. KURTZ #10346. SCISSORS #9430 FISKARS, 5" SCHOOL SCISSORS, RIGHT HAND, SHARP POINT.	EACH	21			1.87	39.27			0.89	18.69		
4423 FISKARS ONLY. NO SUBS. PAPER PUNCH STANDARD	EACH	132	1.97	260.04	1.67	220.44	1.50	198.00	1.49	196.68		
PAPER PUNCH, 1/4" 4424 DIAMETER. KURTZ #11202.	EACH	4	0.90	3.60	1.16	4.64			0.89	3.56	0.97	3.88
DESK BLOTTER #192, BLUE, 19" X 24", STANDARD SIZE. 4425 KURTZ #14362.	EACH	1										

		UNIT OF	QTY.	Cascade	Cascade	Kurtz	Kurtz		Nat'l	Pyramid	Pyramid	School	School Spec
ITEM#	ITEM	MEAS	NEEDED	Unit	Total	Unit	Total	Nat'l Unit	Total	Unit	Total	Spec Unit	Total
4427	DESK PLANNER 12 MONTH DESK PLANNER, AUGUST-JULY, 22" X 17"	EACH	18	2.95	53.10	3.08	55.44						
4428	DESK PLANNER 16 MONTH DESK PLANNER, SEPTEMBER-DECEMBER, 22" X 17". KURTZ #14488.	EACH	44	4.55	200.20	3.75	165.00						
	CLAY KLEAN KLAY #20 NONHARDENING CLAY, ASSORTED COLORS, 4 COLORS/1 LB. PKG. SSI 9 #086004	PKG	64	1.93	123.52	4.75	304.00			1.59	101.76	1.95	124.80
4458	CONSTRUCTION PAPER STANDARD ASSORTED (10 COLORS), 9" X 12", HEAVYWEIGHT, 100 SHEETS/PKG. KURTZ #36098	PKG	22	1.89	41.58	1.74	38.28					2.25	49.50
4460	#D20 RED, 12" X 18", HEAVYWEIGHT, 100 SHEETS/PKG. KURTZ) #36120.	PKG	18	3.79	68.22	3.46	62.28					4.80	86.40
446	#D21 PINK, 12" X 18", HEAVYWEIGHT, 100 SHEETS/PKG. KURTZ #36121.	PKG	5	3.79	18.95	3.46	17.30					3.70	18.50
	CONSTRUCTION PAPER #D60 ORANGE, 12" X 18", HEAVYWEIGHT, 100 SHEETS/PKG. KURTZ												
	3 #36160. CONSTRUCTION PAPER #D50 YELLOW, 12" X 18", HEAVYWEIGHT, 100 SHEETS/PKG. KURTZ	PKG	13	3.79	49.27	3.46	44.98					4.40	57.20
	# #36150 CONSTRUCTION PAPER #D42 DARK GREEN, 12" X 18", HEAVYWEIGHT, 100 SHEETS/PKG. KURTZ	PKG	14	3.79	53.06	3.46	48.44					3.70	51.80
4467	′ #36142.	PKG	5	3.79	18.95								

ITEM#	ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
	CONSTRUCTION PAPER D43 BRIGHT GREEN, 12" X 18", HEAVYWEIGHT, 100 SHEETS/PKG. KURTZ #36143.	PKG	10			3.58	35.80					3.70	37.00
4470	#D30 BLUE, 12" X 18", HEAVYWEIGHT, 100 SHEETS/PKG. KURTZ #36130.	PKG	9	3.79	34.11	3.46	31.14					3.70	33.30
	CONSTRUCTION PAPER #D32 DARK BLUE, 12" X 18", HEAVYWEIGHT, 100 SHEETS/PKG. KURTZ #36132.	PKG	5			3.47	17.35						
	CONSTRUCTION PAPER #D31 LIGHT BLUE, 12" X 18", HEAVYWEIGHT, 100 SHEET/PKG. KURTZ #36131.		11	3.79	41.69	3.46	38.06					3.70	40.70
4474	CONSTRUCTION PAPER #70 VIOLET, 12" X 18", HEAVYWEIGHT, 100 SHEETS/PKG KURTZ #36170.	PKG	7	3.79	26.53	3.46	24.22					3.70	25.90
4475	CONSTRUCTION PAPER #D73 LAVENDER, 12" X 18", HEAVYWEIGHT, 100 SHEETS/PKG. KURTZ #36173.	PKG	5										
4476	CONSTRUCTION PAPER #D22 MAGENTA, 12" X 18", HEAVYWEIGHT, 100 SHEETS/PKG. KURTZ #36122.	PKG	8			3.47	27.76						
	CONSTRUCTION PAPER #D15 LIGHT BROWN, 12" X 18", HEAVYWEIGHT, 100 SHEETS/PKG. KURTZ												
4477	#36115. CONSTRUCTION PAPER	PKG	6	3.79	22.74	3.47	20.82					4.10	24.60
4478	#D17 DARK BROWN, 12" X 18", HEAVYWEIGHT, 100 SHEET/PKG. KURTZ #36117.	PKG	3	3.79	11.37	3.47	10.41					4.40	13.20

ITEM# ITEM	UNIT O MEAS	-	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
CONSTRUCTION P. #D80 BRIGHT WHIT 18", HEAVYWEIGHT	APER E, 12" X ⁻ , 100							, eta.		, eta.		
SHEETS/PKG. KUR 4480 #36180.	TZ PKG	14	3.79	53.06	3.72	52.08					4.20	58.80
CONSTRUCTION P. #D81 BLACK, 12" X HEAVYWEIGHT, 10	APER 18",)											
4481 SHEETS/PKG KURT		11	3.79	41.69	3.46	38.06					4.10	45.10
PENCILS TICONDE LADDIE PENCILS W 4521 ERASER. KURTZ #0	ΊΤΗ	215	2.88	619.20	3.67	789.05			2.85	612.75	3.60	774.00
COMPOSITION BOO RULED COMPOSITI BOOKS #1423 - KUF	ON RTZ											
4523 #01418	DOZ	11	5.92	65.12	7.32	80.52	1					
JOURNAL - UNLINE 4525 KURTZ #01489	DOZ	5	1.37	6.85	17.01	85.05						
MY VERY OWN BO 4529 KURTZ #01806	EACH	25			0.63	15.75						
MY VERY OWN BO 4530 KURTZ #01815	PKG	10			17.47	174.70						
ERASER BLOCK EF 4542 KURTZ #07007	BOX	28	1.38	38.64	4.04	113.12			1.95	54.60	2.75	77.00
PEN PENTEL RSVP 4544 RED - KURTZ #0800		49	0.69	33.81	0.53	25.97						
PEN PENTEL RSVP 4545 BLUE - KURTZ #080		70	0.69	48.30	0.53	37.10						
DRY ERASE BOARI STUDENT DRY ERA BOARD #LP91200R	0 9 X 12 SE M -											
4552 KURTZ #09481	EACH	37	0.91	33.67	1.49	55.13	0.73	27.01	0.99	36.63		
SCISSORS LEFT-H/ 4555 SCISSORS - KURTZ		10	1.70	17.00	1.99	19.90						
VELCRO VELCRO 7 SQUARES #90073 - 4557 #12182		54	1.45	78.30	1.67	90.18			1.95	105.30		
VELCRO VELCRO C 4558 KURTZ #12183	OINS - PKG	92	5.27	484.84	15.34	1,411.28						

ITEM#	ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total	Nat'l Unit	Nat'l Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
	NDER/ORGANIZER				. otu	0	. otu			•	. eta		. otul
	NKERS BOX LITERATURE												
	NDER/ORGANIZER - JRTZ #13139	EACH	23	4.90	112.70	7.43	170.89						
	IPBOARD CLIPBOARDS (9	E/ton	20	4.00	112.70	1.40	170.00						
4567 X ⁻	12) - KURTZ #14311	EACH	55	1.24	68.20	0.95	52.25	0.79	43.45	0.95	52.25		
	UE CRAYOLA NO-RUN												
4580 #1	CHOOL GLUE - KURTZ 8097	EACH	5	1.15	5.75	0.92	4.60			0.79	3.95	0.75	3.75
	OPWATCH #0525 - KURTZ	2/10/1	0	1.10	0.70	0.02	1.00			0.10	0.00	0.10	0.10
4583 #2		EACH	21	5.62	118.02	8.20	172.20			10.95	229.95		
	ME PLATES JUMBO NAME												
	ATES (ALPHABET) CM1112 - KURTZ #21912	PKG	8	3.22	25.76								
	DTTED DICE #IID3406 -	1110											
	PKG - KURTZ #23103	PKG	25			3.15	78.75						
	DNEY - KURTZ #23545	SET	7	1.70	11.90			1					
	TTERN CARDS FOR												
4604 #8			1			10.46	10.46						
	LCULATOR TI-108												
	ACHER KIT, 10												
	ALCULATORS, TEACHERS												
	JRTZ #23977	SET	11	51.12	562.32	51.63	567.93						
	AGNETIC STRIPS - KURTZ		. –										
4626 #2		PKG	45					1					
	AGNETIC RUBBER STRIPS 01 - KURTZ #25625	ROLL	9	3.43	30.87	2.84	25.56					3.75	33.75
	IGGLE EYES WIGGLE			0.10	00101			<u> </u>				0.10	00.10
EY	'ES 15 MM FLAT BLACK -												
	JRTZ #42100	PKG	24	1.20	28.80	1.15	27.60					1.90	45.60
	IGGLE EYES WIGGLE 'ES 12 MM FLAT BLACK -												
	IRTZ #42116	PKG	6	1.05	6.30	0.93	5.58					1.55	9.30
	IGGLE EYES WIGGLE	-						1					
	ES IN ASSORTED												
CC 4685 #4	DLORS/SIZES - KURTZ	PKG	19	1.89	35.91	1.98	37.62						
4005 #4	۲۱۱ <i>۱</i>	i NG	19	1.09	55.91	1.90	57.02						

ITEM#	ITEM	UNIT OF MEAS	QTY. NEEDED	Cascade Unit	Cascade Total	Kurtz Unit	Kurtz Total		lat'l otal	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
	ATERCOLORS - 8 DLORS/SET - KURTZ												
4688 #4	6001	EACH	177	2.71	479.67	2.71	479.67			2.29	405.33	3.50	619.50
	JTTON MAKER SUPPLIES - JRTZ #50956 - 1,000/BOX	BOX	1			183.28	183.28						
То	otal				36,228.58		45,411.48	12,0	697.49		20,151.54		26,735.73

	UNIT OF	QTY	Cascade	Cascade	Discount	Discount	Kurtz	Kurtz	Pyramid	Pyramid	School	School Spec
ITEM # ITEM	MEAS	NEEDED	Unit	Total	Unit	Total	Unit	Total	Unit	Total	Spec Unit	Total
PENCILS HAPPY BIRTHDAY MOTIVATIONAL PENCILS, 8000 12/PKG. JRM #7904.	PKG	32	2.07	66.24	11.99	383.68	2.18	69.76	1.99	63.68		
PENCILS EXCELLENT WORK		52	2.07	00.24	11.33	303.00	2.10	03.70	1.33	05.00		
MOTIVATIONAL PENCILS, 8001 12/PKG. JRM #7906.	PKG	13	1.90	24.70	4.99	64.87			1.99	25.87		
PENCILS MERRY CHRISTMAS MOTIVATIONAL PENCILS, 12/PKG. KURTZ	DKO	07	4.00	50.70			0.40	50.70				
8002 #06154	PKG	27	1.88	50.76			2.10	56.70				
SEALS EUREKA PRESTO STICK SEAL BOOK, DINOSAURS, 48 SEALS/BOOK. EUREKA	5001/											
8004 #65632.	BOOK	1										
SEALS EUREKA GUMMED SEALS, SEASONAL ASSORTMENT, 1,440	DOV		44.40	45.04								
8005 STICKERS. EUREKA #65535.		4	11.46	45.84								
SEALS PRESTO STICK SEAL BOOK, HOLIDAY ASSORTMENT, 432 SELF-ADHESIVE STICKERS.												
8006 EUREKA #65420.	BOX	7	7.66	53.62	22.72	159.04						
SEALS PRESTO STIC SEAL BOOK, ANIMAL ASST. 432 8007 STICKERS. EUREKA #65028.	BOX	1			42.62	42.62			1			
SEAL BOOK #IF4050 REWARD SEALS FOR HOLIDAYS AND SEASONS, 360 SEALS/BOOK. SCHOOL												
8010 SPECIALTY #214932.	BOOK	13					4.00	52.00				
SEAL BOOK #IF4110 REWARD SEALS FOR ALL SEASONS, 1020 SEALS/BOOK. SCHOOL 8013 SPECIALTY #252117	BOOK	7	3.23	22.61			12.17	85.19				
STICKERS VARIETY PACK, 288 STICKERS/PKG. SCHOOL SPECIALTY	2001	,	0.20	22.01				30.10				
8014 #351902.	PKG	2	5.89	11.78			8.11	16.22			6.45	12.90

ITEM #	ITEM	UNIT OF MEAS	QTY NEEDED	Cascade Unit	Cascade Total	Discount Unit	Discount Total	Kurtz Unit	Kurtz Total	Pyramid Unit	Pyramid Total	School Spec Unit	School Spec Total
	STICKERS #T-089 SUPER SAVER PACK STINKY STICKERS, 456 STICKERS/PKG. SCHOOL												
	SPECIALTY #251097.	PKG	5	8.25	41.25	24.94	124.70	10.81	54.05			8.55	42.75
	STICKERS #TUM864 SUPER SAVERS SCRATCH 'N SNIFF STICKERS 648 STICKERS/PKG. TREND #T83905	PKG	17	7.86	133.62			10.81	183.77			8.55	145.35
	STICKERS #899 SMILEY STICKERS, 3/8" IN 4 ASSORTED COLORS, 704 STICKERS/PKG. SCHOOL	PKG		5.00	5.00	10.74	10.74	10.01	100.77			0.00	1+3.35
	SPECIALTY #362361. STICKERS JUMBO ASSORTMENT OF SEASONAL STICKERS, 8400 STICKERS/PKG. EUREKA			<u> </u>	5.00	10.74	10.74						
	#65675 STICKERS SUPER SAVER PACK OF MIXED SHAPES, MIXED SCENTS, 456 STICKERS/PKG. SCHOOL	PKG	5										
	SPECIALTY #373713.	PKG	4	13.32	53.28			10.81	43.24				
	STICKER BOOK SENSATIONAL STICKER BOOK, 1800 STICKERS/BOOK. EUREKA	DOOK		40.75	FF 00								
8028	#60921	BOOK	4	13.75	55.00								
	Total				563.70		785.65		560.93		89.55		201.00